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RI7 2190 2R a9 mnT 897 95 ani — There, where one carries
more than X'"7, wherever he places the object it is a 31 2yp»

Overview

The & m3 is searching for a precedent for the 1°7 that 777 2"77% *"nn XXM
21 nond. The X na rejected any comparison to 1"772 X"7(n 2nv) avn,
because there X7 211 Dpn 77 M7 83°7 93, as opposed to VD 1T XXM
(n9m13). mvoIn will suggest several other possibilities (as precedents) where
he is 211, even though it passes through a 715 opn. MooIn will then explain
why these comparisons are inappropriate.

272 NIRRT oapm v R — And in the cases where one either
carries out, or hands over an object 1"77% "7 or transports an object
"2 KT -

2°17 ' 79pnb 917 - in a manner where the object being transported was
above ten 2°11ov from the floor of the 2"117, and nevertheless he is 291

MWD "n ARYRY 9 M 7T ORT 23 Y X — even though had he placed down
the object, where it was being transported, above ten 215w, he would be

MWB, since he made the 7Mwd 0112 7M. Nevertheless if he did not place the object in the
7105 0PN, but rather continued and placed it in the 7"77 he is 2>°1. We have here a case
where the object traversed through a place, where, had he put it there, he would be 705,
however if he did not place it there, but placed it in the 7"77 proper he is 2>°11. This should
be a sufficient precedent for the 17 of the 13127. We cannot reject it for the reason (given in
the case the X3 chose, namely) X7 211 2P 77 MINT 83°7 9, because here it is traversing
in a Mo 0Pn, exactly as in the case of the 1127. The question then is; why did not the
X713 choose these cases as a precedent for the 1127?

ND0IN answers:

RY7 217 2IPR TR 2YPRa 1NN 2R Wan — nevertheless these cases are not
a valid precedent, since underneath the person, who is carrying the object,
the place where he is walking, that place is a 2y 2. Therefore, regardless
of where the object is, the person who is carrying the object, is walking in a 7", which
is a 2vn opn.!

NI WD 2R 1 ypap U 9ak — However in the case of the 73120 where he
passes through a yu®, the ground upon which he is walking, is also a 2p»

MWD, Therefore we cannot compare the cases, and they would not qualify as a precedent.

" The status of a Mwa/a1n op» is dependent on where the person is (walking), not where the object is.
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Summary:
Carrying an object 1"7772 oondv “» 7%vnY is not considered as if one was

carrying it through a 7w o1pn, provided that the person carrying it, is
walking in the 2"77.

Thinking it over
What are some m>%7 that support this concept; that where the person is
standing, 1s more relevant, than where the object is found?




